E (=2 -3) F(s+)

c¢. The slope of EF.

.

peo

d. The equation of the perpendicular bisector of EF.

j_ ‘i = 7 (_x-é)

V)

2. In AKRZ, A K=/Z KR =9x +2,R7 =3x+20,and KZ = 6x +14. Determine the length of each

side of the triangle. R
G x+2= 3x 420
x =3 ax+2 3x + 20
KR=2 Rz =29 k2= 32
K 6x+ 14 z
3. Given the diagram to the right:

a. Determine the value of x and y. E

sz«%%:;m S L - Y

: - s N 110°
b. Given that FH = 13, GH = 5, find the area of the X
triangle. G e H

Fa = 13>~ ¢* Fe =tz
AL gz =

4. Given the following diagrams, T@emntify whether the triangles are congruent. If so, write out the
congruent triangles. Pay attention to the order of the triangle vertices. State your reason.
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